
L

$%675$.

:LG\D� 5DKPDZDWL� ������ )DNWRU�)DNWRU� 3HQ\HEDE� 3HGDJDQJ� %HUWDKDQ� GL�
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3HQHOLWLDQ� LQL� EHUWXMXDQ XQWXN� PHQJHWDKXL� GDQ� PHQJDQDOLVLV� WHQWDQJ�
IDNWRU�IDNWRU�SHQ\HEDE�SHGDJDQJ�EHUWDKDQ�GL�SDVDU�ODPD�.HFDPDWDQ�/XEXN�$OXQJ�
VHUWD�VLNDS�SHGDJDQJ�GDQ�SHPEHOL�WHUKDGDS�SDVDU�EDUX�\DQJ�WHODK�GLEDQJXQ�

-HQLV� SHQHOLWLDQ DGDODK� SHQHOLWLDQ� NXDOLWDWLI�� $GDSXQ� WHNQLN� GDODP�
PHQHQWXNDQ� LQIRUPDQ� GHQJDQ� FDUD� 3XUSRVLYH� 6DPSOLQJ�� 'DWD� \DQJ� GLJXQDNDQ�
GDWD�SULPHU KDVLO�ZDZDQFDUD�ODQJVXQJ�NHSDGD�SHGDJDQJ�GDQ�SHPEHOL��VHGDQJNDQ�
GDWD�VHNXQGHU�GLSHUROHK�GDUL�LQVWDQVL�WHUNDLW��

+DVLO SHQHOLWLDQ� PHQHPXNDQ� EDKZD IDNWRU�IDNWRU� SHQ\HEDE� SHGDJDQJ�
EHUWDKDQ�GL�SDVDU�ODPD�.HFDPDWDQ�/XEXN�$OXQJ�DGDODK����)DNWRU�ODQJVXQJ�\DQJ�
PHSHQJDUXKL� DGDODK� �D�� /RNDVL� SDVDU� \DQJ� GHNDW� GHQJDQ� UXPDK� SHGDJDQJ� GDQ�
SHPEHOL�GHQJDQ� MDUDN� WHPSXK� UDWD�UDWD�NXUDQJ�GDUL���.P�� �E��7UDQVSRUWDVL� \DQJ�
GDSDW� GLJXQDNDQ� NHQGDUDDQ� XPXP� GDQ� NHQGDUDDQ� SULEDGL�� �F�� +DUJD� VHZD� NLRV�
\DQJ� WHUMDQJNDX ROHK�SHGDJDQJ�VHNLWDU�5S�������� ± 5S ����������SHUWDKXQ� �G��
5DWD�UDWD� SHQGDSDWDQ� SHGDJDQJ� EHUNLVDU� 5S� �������� ± 5S� ���������� SHUKDUL�
GHQJDQ� NHXQWXQJDQ� \DQJ� GL� GDSDW� \DLWX� 5S� ������� ± 5S� �������� SHUKDUL��
6HGDQJNDQ� IDNWRU� WLGDN� ODQJVXQJ�\DQJ�PHPSHQJDUXKL� \DLWX� �D��.HELMDNDQ�� WLGDN
DGD� NHWHJDVDQ� GDUL� SHQJHOROD� SDVDU� VHFDUD� UHVPL� XQWXN�PHPLQGDKNDQ� SHGDJDQJ�
GDUL� SDVDU� ODPD� NHSDVDU� EDUX�� �E� +XEXQJDQ� VRVLDO� NHPDV\DUDNDWDQ� SHGDJDQJ�
GHQJDQ� OLQJNXQJDQ� VHNLWDU� WHUMDOLQ�GHQJDQ�EDLN�� ���6LNDS�SHGDJDQJ GDQ�SHPEHOL�
WHUKDGDS� SDVDU� EDUX� \DQJ� WHODK� GLEDQJXQ� SDGD� XPXPQ\D� WLGDN� VHWXMX�� NDUHQD�
VWDWXV�SHQHPSDWDQ�SHGDJDQJ�GL�SDVDU�EDUX�EHOXP�MHODV GDQ�ELD\D�VHZD�PDKDO�
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